
49.6

1
8
.
6

19.31 ±0.3

1
3
.
2
 
±

0
.
3

1
7
.
7
 
±

0
.
3

R0
.5
 M
AX23.36 ±0.3

30.86 ±0.2

3.
4 

±
0.
1

R0.5 MAXR0.5 MAX
R0.5 MAX

R0.5 MAX

7
.
8
7
5
 
±

0
.
3

1

1
1
.
2
 
±

0
.
3

6
.
8
 
±

0
.
3

3
9
.
6
 
±

0
.
4

22.36 ±0.3

HRS Marking

12

Contact No.

P= 10.16 ±0.2

22.36 ±0.3

30.86 ±0.3

39.56 ±0.3

17.81 ±0.3 7
.
3
7
5
 
±

0
.
3A

Cav.No.

12.2 ±0.3

15.7 ±0.3

16.65 ±0.4

1

Mating Figure(1:1)

DF60F-2EP-10.16C

DF60F-2S-10.16C

Recommended Panel Cut Out Dimension

Note 1. 100 Pieces / Pack
　   2. Refer to the technical specification (ETAP-H1021-00) for the packaging type.
　   3. Refer to the technical specification (ETAD-H0654-00, ETAD-H0653-00) in handling this product.
     4. UL(File No.E52653)
        C-UL(File No.E52653)
        TÜV（Certificate No．R50400864）authorization article．

1 PBT BLACK, UL94-V0

NO. MATERIAL FINISH  ,  REMARKS

49.6

1
8
.
6

19.31 ±0.3

1
3
.
2
 
±

0
.
3

1
7
.
7
 
±

0
.
3

R0
.5
 M
AX23.36 ±0.3

30.86 ±0.2

3.
4 

±
0.
1

R0.5 MAXR0.5 MAX
R0.5 MAX

R0.5 MAX

7
.
8
7
5
 
±

0
.
3

1

EDC-386588-00-00

CL0680-4009-0-002022.08.02SN.MIWA

APPROVED :

DF60F-2EP-10.16C

2
1

DRAWN    :

DESIGNED :

CHECKED  :

SCALE

2:1

UNITS

mm DIS-H-00018505 2023.06.16SZ.ONOTS.KUMAZAWA

DATECHECKEDDESIGNEDDESCRIPTION OF REVISIONSCOUNT

PART
 NO.

CODE
 NO.

DRAWING
  NO.HIROSE

ELECTRIC

CO.,LTD.
1

1

SJ.OKAMURA

SN.MIWA

TT.OHSAKO

2022.08.02

2022.08.04

2022.08.04

1 2 3 4

81 2 3 4

Ｂ

Ｆ

6 7 8

7

Ｄ

Ｅ

Ｆ

Ａ

Ｃ

Ｄ

Ｅ

5

6

Ｂ

Ｃ

Ａ

5FORM HC0011-5

A
pr

.1
.2

02
4 

C
op

yr
ig

ht
 2

02
4 

H
IR

O
S

E
 E

LE
C

T
R

IC
 C

O
., 

LT
D

. A
ll 

R
ig

ht
s 

R
es

er
ve

d.
In

 c
as

e 
of

 c
on

si
de

ra
tio

n 
fo

r 
us

in
g 

A
ut

om
ot

iv
e 

eq
ui

pm
en

t /
 d

ev
ic

e 
w

hi
ch

 d
em

an
d 

hi
gh

 r
el

ia
bi

lit
y,

 k
in

dl
y 

co
nt

ac
t o

ur
 s

al
es

 w
in

do
w

 c
or

re
sp

on
de

nt
s.

HRS DRAWING FOR REFERENCE



DF60F In-Line Type Recommended Panel Mounting Manual in Using Nuts

Nut insertion process

Panel mounting process

1. Slide the nut (size:M3) to the nut fix part. 2. Press down the nut until it clicks.
   Then, this sound means that the nut has inserted
   into the nut holder.

1. Insert connector into the panel cut out part.
2. Tighten a screw (size:M3) to fix with panel.
   Recommended torque : Less than 0.49N・m

Nut fix part

DF60F-3EP-10.16C

M3 Nut Nut holder

DF60F-3EP-10.16C

Panel

M3 screw

CL0680-4009-0-003D Model File Name:

1 2 3 4

81 2 3 4

Ｂ

Ｆ

6 7 8

7

Ｄ

Ｅ

Ｆ

Ａ

Ｃ

Ｄ

Ｅ

5

6

Ｂ

Ｃ

Ａ

5

2
2

1

DF60F-2EP-10.16C

CL0680-4009-0-00

EDC-386588-00-00

CODE

   NO.

PART

   NO.

DRAWING

   NO.

FORM HC0011-28

A
pr

.1
.2

02
4 

C
op

yr
ig

ht
 2

02
4 

H
IR

O
S

E
 E

LE
C

T
R

IC
 C

O
., 

LT
D

. A
ll 

R
ig

ht
s 

R
es

er
ve

d.
In

 c
as

e 
of

 c
on

si
de

ra
tio

n 
fo

r 
us

in
g 

A
ut

om
ot

iv
e 

eq
ui

pm
en

t /
 d

ev
ic

e 
w

hi
ch

 d
em

an
d 

hi
gh

 r
el

ia
bi

lit
y,

 k
in

dl
y 

co
nt

ac
t o

ur
 s

al
es

 w
in

do
w

 c
or

re
sp

on
de

nt
s.

HRS DRAWING FOR REFERENCE


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5

	Sheet2

